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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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G3-2_0, Day=7.0 (2025-05-19)
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G3-2_0, Day=5 (2025-05-17)

Wfme——f————Ff————f————f———— —
B, VQgERV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET | 600
20 1 Hagg PIPRRDPL Sl T
48 - 400 _
E
. >
10 00 190 200 &
Warning: lcol [FVI',| "FVO’'] missing
0 1 - 66
( i 4
. go | m= v M_E
I L 54
4+
C
=
o - 52 _I
E
= - 50
L
48
5200 J_ TargetEG=2500. 0,  TargetSetEC=3000.0 —¢—  ECBX10%
3000 fm—mmm—————————— e e e * M mXm - S - X e e e
2800 - : . .
Warning: lcol ["ECC'] is missing
7.04  TargetPH=6.5, TargetSetPH=6.2 —>%—  PHBx10% [
6.5 7€ o) o) o) o) >
6.0 Warning: col ["PHC' 1 is missing
. 1 400
= Bylnit @7 15:39: ET=264 Fg=250.0 Ro=6.0 : =
& 100 - : L 300 &
N *——o—o© <
< I - 200 E
E 50 I m
— _ L 100 §
(NN (6]
1
0 ’f !%74¥!ﬁ7 1 — — 0
2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 400
= BH I1z=m|s=| B | B | B | B | B | B | B B B 5 5 5 | B 5 5 B B 5 5 il B o~
s 100 - I i £
2 ByWoFv @7 15:39; ET=190 Fg=180.0 Ro=6.0 ! 300 =
~N ~
- 1 —_
< I S o o 20E
E 50 7 —_
= wl
(NN (6]
1.0 ’E ’F !E A’kf 0
) 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
08l B |ZF|ET[(ZZ|25| B | BB [BZ (X |25 |57 B 5 5 5 | B 5 5 B B 5 5 il B
0.6 -
0.4 -
0.2 A

80

60

40

0.8

0.6

0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

RH
T @ RH_obs
RHo _obs

0.0 0.2 0.4 0.6 0.8 1.

0



m=485, FV0=0 m=605, FV0=0 m=665, FV0=0

54.5
M_E | 54.50 - —o— ME - ME e MNE
54.0 -
54. 25 54.0
53. 75 -
53.0 - 53.0 -
53. 50 A
53. 25 - 52.5 - 52.5 -
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 605 610 615 665 670 675
m=725,m FV0=0 m=785,m FV0=0 m=905,m FV0=0 m
—~— WE | ] —— nEe | 3097 —e— ME | 43.07 —— MW
54.0 - '
52.5 -
53.5 -
53.5 -
53,0 52.0 -
53.0 -
52.5 - 51.57
52.5 -
52.0 - 51.0 -
52 0 T T T T T T T T T T T T T T
725 730 735 785 790 795 905 910 915 500 600 700 800 900
m=485,m FV0=0 m=605,m FV0=0 m=665,m FV0=0 m=725,m FV0=0
43.0 4 —— MW —— MW —— MW —— MW
42.0 -
42.0 - 42.0
42.5 - 415
41.5 - 41.5 +
42.0 + 41.0 -
41.0 -
41.0 - 0
5 40.5 -
485 490 495 605 610 615 665 670 675 725 730 735
m:785,m FV0=0 m:905,m FV0=0 m m
42,0 - —— MW —— mW
41.5 -
.51
41.0 -
101 40.5 -
40.5 - 40.0 -
785 790 795 905 910 915



hour

8:55

10:20

11:50

13:15

14:25

100

80

60

40

20



G3-2

BfiE) | EBETK (D) | EE (EH/AR) | XK SR

08:10 120 30.0 =] {BRi%e08:10 F3 (RFAIEREE)
08:55 120 30.0 5| {Ri%@08:55 F iz (FAERSE)
10:20 120 30.0 |Z=| {Ri%e10:20 Fz1 (KREEZBE)
11:50 120 30.0 |Z=| {Ri&e11:50 Fz1 (REEZEBE)
13:15 120 30.0 (Z=| 1Rig@13:15 Fz1 (RAEZSE)
14:25 120 30.0 (Z=&| 1Ri%@14:25 Fz (FAMEHSE)
Bit| 720.0 (62%) 180.0 IZHIKEC: 2994.0, PH: 6.2

EORGEBIRTC R IRAE R RN (120 vs 48.0))

ZRIASLPRIERET6. 0 ml.

REXFEBIPH (10.34) 5i&%EPH (6.5) RERK, HFHRE
REXEBPH (10.34) 5FMPH (6.5) REKKA, BFHRE

E;&EC (2223.0 vs 2375) {RIK




30

20

10

100

~
($,]

(S
o

1

N
[$;}

1

FRV (ml plant-1)

3200

3000

2800

7.0

6.5

6.0

80

60

40

20

ET (ml/hr/plant)

80

60

40

20

ET (ml/hr/plant)

—_

.0
0.8
0.6
0.4
0.2
0.0

1500

1000

500

60

40

1.0
0.8
0.6
0.4

0.2

G3-2_0, Day=4 (2025-05-16)

- . 608 608
P, VQERV, ET ~ VI, VO, FVI, FVO, FRV, ad jFRV, ET -
84

| 29 196

Warning: lcol [FVI',| "FVO’'] missing

E

1

TargetEC=2500. 0, | TargetSetEC=2994. 0 —>—  ECB*10%

S S S ——— N N R N R Y N N R S, !

Warning: lcol ["ECC'] is missing

TargetPH=6.5, TargetSetPH=6.2 —>—  PHB*10%

. X

Warning: col ["PHC' 1 is missing

]
Bylnit @7 15:40: ET=356 Fg=350.0 Ro=13.0 :
|
I

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

|2z |%=| B | A | W5 | 85 | BF | BE | BE | BE | BE [ RE [ RE [ MG [ ME | R [R5 | MW | M | M | WM | W | @

ByWoFv @D7 15:40: ET=196 Fg=180.0 Ro=7.0

1252|155 B | A [ B | BB | B | B | ZE|ER || ZR|ZE|(ZR|ZE|(ZR|ZE[(Z| B (KM |l [Xm]| B

{ — |

[ ] | _obs
—@— PPFD obs

WaV

—— RH
4+ @ RH_obs
(] RHo_obs

0.0 0.2 0.4 0.6 0.8 1.

0

T
N
o
o

FRV (ml d-1)

T
N
o
o

- 400

- 200

- 400

- 200

T
(=2}
o
o

cumET (ml/plant)

cumET (ml/plant)



m=485, FV0=0 m=545, FV0=0 m=605, FV0=0

54 4 —o— Mg | 93907 —— WE| . —o— me | 407 —o— ME
¢ 53. 25
53 53. 5 A
53. 00 - 93.51
521 53.0
52. 75 - 53.0 -
51 -
i 52.5 -
52. 50 _—
50—‘ 52. 25 - 52.0 -
52.0 - '
49 - 52. 00 A
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 545 550 555 605 610 615
m=665,m FV0=0 m=725,m FV0=0 m=785,m FV0=0 m=845,m FV0=0
54.0 - 59 5
—— ME | 535 —— ME - ME : —o— ME
53.5 1 52.51
53.0 - 52.0 -
53.0 - 52.0 -
52.5 - 51.5 -
52.5 1 51.5 -
52.0 A 51.0
52.0 -
51.0 -
51.5 - 50.5 4
51.5 -
T T T T T T 50 5 T T T T T T
665 670 675 725 730 735 785 790 795 845 850 855
m=905,m FV0=0 m m=485,m FV0=0 m=545,m FV0=0
52.5
—— ME | ,. | —— ww |, ] —— MW s —— MW
52.0 -
40. 8 -
41.0 1
51.5 - 40. 6 -
40. 4
40.5 -
51.0 -
40. 2
_ 40.0 -
50. 5 - 40.0
905 910 915 500 600 700 800 900 485 490 495 545 550 555
m=605,m FV0=0 m=665,m FV0=0 m=725,m FV0=0 m=785,m FV0=0
41.5 T o— ww | 407 o— mu | 410 — NN
41.0 -
41.0 40. 5 40.5
40. 5 -
40. 5 - 40.0 40.0 -
40.0 -
40.0 - 39.5 -
39.5 -
605 610 615 665 670 675 725 730 735 785 790 795



m=845, FV0=0 m=905, FV0=0

41.0 o— mu | 410 — N
40.5 40.5 -
40.0 40.0 -
39.5 -
39.5 -
T T T T T T
845 850 855 905 910 915



hour

100

8:05
8:45 80
10:05
- 60
11:25
-40
12:50
14:05 20
15:15
-0
% A
& ¢§




G3-2

BfiE) | BRI (FD) | E=E (EH/AR) | XK R

08:05 48 30.0 |Z=| 1Ri%e08:05 kEFEF (RA{ERLEE)
08:45 48 30.0 |Z=| 1Ri&e08:45 KEFEF (RAFEREE)
10:05 48 30.0 5| 1BRi%e10:05 REFEF (KEAERESR)
11:25 48 30.0 5| BRi%e11:25 RHEF (RAERSE)
12:50 48 30.0 5| Ri%012:50 KEFZEF CGRAETESE)
14:05 48 30.0 5| 1BRi%e14:05 RHEF (KEAERSR)
15:15 48 30.0 5| {Ri%015:15 KRHFEF CRAERESR)
=23t| 336.0 (7% 210.0 EGHKEC: 3240.0, PH: 6.2

FERGEIPH (10.34) 5igEPH (6.5) REK K, AT
FEREPH (10.34) 5FPH (6.5) REKK, FHE

E%EC (1964.0 vs 2375) 1R1E

#HEHECE (2914.0 vs 1964.0) R{%




G3-2_0, Day=3 (2025-05-15)

FRV (ml plant-1)
o
~
1

- 616
54L VgsﬁRV ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

84
231
Warnlng col ["FVI', "FVO'] missing 00

T
o

TargetEC=2500. 0,  TargetSetEC=3240.0

TargetPH=6. 5, TargetSetPH=6. 2

0.0

> [=23
o o
1 1

N
o
1

ET (ml/hr/plant)

o &©
& e o o e o

ByWoFv @D7 15:40: ET=231 Fg=210.0 Ro=10.0

=

T
w
(=}
o

T
N
o
o

T
—_
o
o

cumET (ml/plant)

—_
o

0.8 -

0.6 1

0.4+

0.2~

0.0
1500 ~

1000 ~

500 -

—_—
[ ] | _obs
—@— PPFD obs

40 -

RH
[ ] RH_obs
(] RHo_obs

0.6 1

0.4+

0.2~

0.0
0.0

0.2 0.4 0.6 0.8

1.

0

T
(=2}
o
o

T
N
o
o

FRV (ml d-1)

T
N
o
o



